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Q1. A word has been given in capital letters followed by four other words. Out of
these only one can be formed using the letters of the given word. Find out that
word.

IMPATIENCE
a) CENTRE

b) REMAIN

c) PENCIL

d) IMPACT

Q2. From the given alternative words, select the word which can be formed using
the letters of the given word.

REPUTATION
a) REQUIRE

b) RETIRE

c) TUTOR

d) PONDER

Q3. A word given in Capital Letters is followed by four answer words. Out of these
only one can be formed by using the letters of the given words. Find out that word.

ARISTOCRATIC
a) STATIC

b) SECRET

c) ARREST

d) CREATION


https://careericons.com/

Q4. From the given alternative words, select the word which can be formed using
the letters of the given word.

IMMEDIATELY
a) LIMITED

b) DIAMETER

c) DICTATE

d) DIALECT
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Q5. From the given alternative words, select the word which can be formed using
the letters of the given word.

OPERATION
a) ROTATION

b) OPTION

c) NATION

d) CAPTION

Q6. From the given alternative words, select the word which can be formed using
the letters of the given word :

TRADITIONAL
a) RADIO

b) ANIMAL

c) DIRTY

d) NATION
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Q7. Name a single letter that can be suffixed to the following words to form new
words ?

HAT BAR BAT PIN BATH
a)B
b) D
c)E

d) A

Q8. From the given alternative words, select the word which can be formed using
the letters of the given word.

MONUMENT
a) MOUNT

b) MOVEMENT

c) TENENT

d) TENT

Q9. Which single letter when added to the following words will form new words ?
HAT HID MAN WAR

a)yY

b) E

c) None

d) H

Q10. Which single letter can be prefixed to the following words in order to obtain
entirely new words? (Same letter has to be prefixed in all the five words of each.)

EAT OUR IS ASAT
a) S

b) C



c)B
d) H

Q11. A word given in Capital Letters is followed by four answer words. Out of
these only one can be formed by using the letters of the given words. Find out that
word.

SOMNAMBULISM
a) BASAL
b) SOUL
c) BIOME

d) NAMES

Q12. From the given alternative words, select the word which can be formed using
the letters of the given word.

GLAZE
a) LAZY

b) LEASE

c) ZEAL

d) GLAD

1000+ FREE WORD FORMATION BASED QUESTIONS AND ANSWERS FOR ALL
COMPETITIVE EXAMS

Free Practice MCQs » Download More PDF » Free Online Quiz »

Q13. A word given in Capital Letters is followed by four answer words. Out of
these only one can be formed by using the letters of the given words. Find out that
word.

IMMEDIATELY
a) DICTATE

b) LIMITED
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c) DIALECT

d) DIAMETER

Q14. Which letter is used only in one of the given words?
Speak, Reap, Shark

a)P

b) K

c)H

d) S

Q15. Some letters are given with numbers from 2 to 9. Select the sequence of
numbers which arranges the letters into a meaningful word.

wJaefx] 1 [m[of r]n]a]1]
o]z]3]4[s]e]7]e]o]z]s

a)3,6,2,4,2,9,5,7,5,9,8

b)3,4,2,2,6,59,7,8,9,5
c)3,4,2,6,509,2,8,5,7,9

d)3,4,6,2,9,5,8,5,2,9,7
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Answers to the above questions :

Q1. Answer: (d)

There is no letter ‘R’ in the given word and hence the words CENTRE and REMAIN cannot
be formed. There is no letter ‘L’ in the given word and hence the word PENCIL cannot be
formed IMPATIENCE
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Q2. Answer: (c)
Ther is no ‘D’ lettter in the given word. Therefore, the word PONDER cannot be formed.
There is no ‘Q’ letter in the given word. Therefore, the word REQUIRE cannot be formed.

There are only one ‘R’ and one ‘E’ in the given word. Therefore, the word RETIRE cannot be
formed.

REPUTATION?TUTOR

Q3. Answer: (a)

Except in the word STATIC, there is letter ‘E’ in all the other three words. But there is no letter
‘E’ in the Keyword.
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Q4. Answer: (a)

There is no ‘C’ letter in the given word. Therefore, the words DIALECT and DICTATE cannot
be formed.

There is no ‘R’ letter in the given word. Therefore, the word DIAMETER cannot be formed.

IMMEDIATELY?LIMITED
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Q5. Answer: (b)
There is no ‘C’ letter in the given word.
There is only one ‘T’ in the given word.

There is only one ‘N’ in the given word.

Q6. Answer: (a)

There is only one ‘N’ in the given word. Therefore, the word NATION cannot be formed.
There is no ‘M’ letter in the given word. Therefore, the word ANIMAL cannot be formed.
There is no ‘Y’ letter in the given word. Therefore, the word DIRTY cannot be formed.

TRADITIONAL?RADIO

Q7. Answrr: (d)
HATE
BARE
BATE
PINE

BATHE

Q8. Answer: (a)

MONUMENT?MOUNT

Q9. Answer: (b)

HEAT,HIDE;MEAN;WEAR



OR

HATE;MANE;HIDE;WARE;

Q10. Answer: (d)
HEAT

HOUR

HIS

HAS

HAT

Q11. Answer: (b)

SOMNAMBULISM

Q12. Answer: (c)
There is no ‘D’ letter in the keyword.
There is no ‘Y’ lettter in the keyword.

There is no ‘S’ letter in the keyword

Q13. Answer: (b)

There are no ‘R’ and ‘C’ letters in the given word.

Q14. Answer: (c)

H is used only in SHARK.
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